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Distributions of segment lengths (dx)
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Simple geometrical model
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Analysis

MC-truth

SpdTsTBPoint

point->GetEnergylLoss()

point->GetSegmentLength()

mctruth_track->GetP()

Reco

SpdTrackMC
SpdMCStrawHit1D

hit->GetResp()

hit->GetSeglLen()

track->GetFitPars ()
->GetFinalState()
->GetMomentum()

(hit->GetModId()==2)



240
220
200
180
160
140
120
100
80
60
40
20

120

100

80

60

40

20

mc-truth vs. reco: pions

dx in point (mc-truth) (pions)
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dE in point (mc-truth) (pions)
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mc-truth vs. reco: pions

dE/dx vs p (mc-truth) (pions) dE/dx vs p (reco) (pions)
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mc-truth vs. reco: kaons
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dE/dx [keV/cm]

mc-truth vs. reco: kaons

dE/dx vs p (mc-truth) (kaons)

h dEdx_p0 K

Std Dev x

= | Entries 202636
= | Mean x 0.8547
=l = Meany 2.735
0.4508
1.546

3
p [GeV/c]

dE/dx [keV/cm]

dE/dx vs p (reco) (kaons)

- h r dEdx p K

= = = | Entries 198347
= | Meanx 0.858

= Mean y 2.725

Std Devx  0.4528
Std Devy 1.539




25000

20000

15000

10000

5000

4000

3500

3000

2500

2000

1500

1000

500

mc-truth vs. reco: protons

dx in point (mec-truth) (protons)
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dE/dx [keV/cm]

mc-truth vs. reco: protons

dE/dx vs p (mc-truth) (protons) dE/dx vs p (reco) (protons)
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mc-truth vs. reco: electrons
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dE/dx [keV/cm]

mc-truth vs. reco: electrons

dE/dx vs p (mc-truth) (electrons)
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Summary

kaons

electrons 0,04 ~0
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dE/dx [keV/cm]

mc-truth vs. reco: dE/dx, truncated mean

dE/dx (trunc. mean 35%)
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